

				February	- 2020					
Billing Catego				2020		2019				
(Billing categories below do not match traditional crime groupings)		February	Year to Date	Time Standard	Year To Date Weighted Hours	February	Year to Date	Time Standard	Year To Date Weighted Hours	
Violent Criminal	Manslaughter	0	0		0.0	1	1	15.9	15.9	
Code	Sexual Assault	5	6	15.9	95.4	3	3	15.9	47.7	
	Sexual Interference	0	2	15.9	31.8	0	0		0.0	
	Sexual Exploitation	0	0		0.0	0	1	15.9	15.9	
	Non-Consensual Distribution of Intimate Images	0	0		0.0	0	1	15.9	15.9	
	Assault With Weapon or Causing Bodily Harm-Level 2	3	5	15.9	79.5	3	7	15.9	111.3	
	Assault-Level 1	8	17	15.9	270.3	8	21	15.9	333.9	
	Assault Peace Officer	0	0		0.0	1	2	15.9	31.8	
	Robbery, With Threat of Violence	1	2	15.9	31.8	3	3	15.9	47.7	
	Robbery - Other	2	2	15.9	31.8	0	0		0.0	
	Extortion	0	0		0.0	0	1	15.9	15.9	
	Criminal Harassment	0	0		0.0	1	3	15.9	47.7	
	Indecent/Harassing Communications	0	1	15.9	15.9	1	3	15.9	47.7	
	Utter Threats -Master code	1	1	15.9	15.9	0	0		0.0	
	Utter Threats to Person	1	3	15.9	47.7	3	3	15.9	47.7	
	Total	21	39	15.9	620.1	24	49	15.9	779.1	
Property Crime	Break & Enter	7	15	6.8	102.0	6	10	6.8	68.0	
Violations	Break & Enter - Firearms	0	0		0.0	1	1	6.8	6.8	
	Theft Over - Trailers	0	1	6.8	6.8	0	1	6.8	6.8	
	Theft Over - Other Theft	0	1	6.8	6.8	1	2	6.8	13.6	
	Theft of - Mail	0	0		0.0	1	2	6.8	13.6	
	Theft of Motor Vehicle	4	9	6.8	61.2	2	10	6.8	68.0	
	Theft of - Automobile	0	1	6.8	6.8	3	8	6.8	54.4	
	Theft of - Trucks	9	16	6.8	108.8	2	8	6.8	54.4	
	Theft of - Snow Vehicles	0	0		0.0	0	1	6.8	6.8	
	Theft of - All Terrain Vehicles	1	3	6.8	20.4	0	0		0.0	
	Theft of - Farm Vehicles	0	0		0.0	0	1	6.8	6.8	
	Theft of - Other Motor Vehicles	0	1	6.8	6.8	0	0		0.0	
	Theft Under -master code	1	1	6.8	6.8	0	1	6.8	6.8	
	Theft under - Building	0	0		0.0	1	1	6.8	6.8	
	Theft under - Persons	1	1	6.8	6.8	1	1	6.8	6.8	



				February	- 2020					
Billing Catego				2020		2019				
(Billing categories below do not match traditional crime groupings)		February	Year to Date	Time Standard	Year To Date Weighted Hours	February	Year to Date	Time Standard	Year To Date Weighted Hours	
Property Crime	Theft under - Trailers	1	3	6.8	20.4	0	0		0.0	
Violations	Theft under - Other Theft	5	9	6.8	61.2	4	13	6.8	88.4	
	Theft Under - Gasoline Drive-off	1	8	6.8	54.4	4	9	6.8	61.2	
	Theft FROM Motor Vehicle Under \$5,000	2	5	6.8	34.0	7	16	6.8	108.8	
	Theft Under \$5,000 [SHOPLIFTING]	3	10	6.8	68.0	6	10	6.8	68.0	
	Possession of Stolen Goods over \$5,000	2	3	6.8	20.4	0	2	6.8	13.6	
	Possession of Stolen Goods under \$5,000	0	0		0.0	0	2	6.8	13.6	
	Fraud -Master code	1	1	6.8	6.8	0	0		0.0	
	Fraud - Steal/Forge/Poss./Use Credit Card	1	4	6.8	27.2	0	0		0.0	
	Fraud - Forgery & Uttering	1	1	6.8	6.8	0	0		0.0	
	Fraud -Money/property/ security > \$5,000	0	1	6.8	6.8	0	1	6.8	6.8	
	Fraud -Money/property/ security <= \$5,000	3	6	6.8	40.8	5	6	6.8	40.8	
	Fraud - Other	2	4	6.8	27.2	6	12	6.8	81.6	
	Personation with Intent (fraud)	0	0		0.0	1	1	6.8	6.8	
	Fraud - False Pretence > \$5,000	0	1	6.8	6.8	0	0		0.0	
	Identity Fraud	0	0		0.0	0	1	6.8	6.8	
	Mischief - master code	8	15	6.8	102.0	4	23	6.8	156.4	
	Mischief [Graffiti - Non Gang Related]	0	1	6.8	6.8	0	0		0.0	
	Interfere with lawful use, enjoyment of property	0	0		0.0	2	2	6.8	13.6	
	Property Damage	2	4	6.8	27.2	3	6	6.8	40.8	
	Total	55	125	6.8	850.0	60	151	6.8	1,026.8	
Other Criminal Code Violations (Excluding traffic)	Offensive Weapons- Possession of Weapons	0	0		0.0	1	1	7.9	7.9	
	Offensive Weapons- Other Offensive Weapons	0	0		0.0	0	1	7.9	7.9	
	Offensive Weapons- Other Weapons Offences	0	1	7.9	7.9	0	0		0.0	
	Bail Violations - Fail To Comply	2	4	7.9	31.6	7	10	7.9	79.0	



				February	- 2020					
Billing Categor	ries			2020		2019				
(Billing categories below do not match traditional crime groupings)		February	Year to Date	Time Standard	Year To Date Weighted Hours	February	Year to Date	Time Standard	Year To Date Weighted Hours	
Other Criminal Code Violations	Bail Violations - Fail To Appear	0	0		0.0	1	1	7.9	7.9	
(Excluding traffic)	Bail Violations - Appearance Notice	0	0		0.0	0	1	7.9	7.9	
	Bail Violations - Others	0	1	7.9	7.9	0	0		0.0	
	Bail Violations - Recognizance	0	0		0.0	1	1	7.9	7.9	
	Counterfeit Money - Master code	0	2	7.9	15.8	0	0		0.0	
	Uttering Counterfeit Money	0	2	7.9	15.8	0	0		0.0	
	Counterfeit Money - Others	0	0		0.0	1	1	7.9	7.9	
	Disturb the Peace	2	4	7.9	31.6	1	3	7.9	23.7	
	Child Pornography - Master code	1	1	7.9	7.9	0	0		0.0	
	Child Pornography - Possess child pornography	1	1	7.9	7.9	0	0		0.0	
	Child Pornography - Making or distributing	0	0		0.0	0	1	7.9	7.9	
	Public Morals	0	1	7.9	7.9	0	0		0.0	
	Trespass at Night	0	0		0.0	0	2	7.9	15.8	
	Breach of Probation	3	5	7.9	39.5	1	4	7.9	31.6	
	Disobey court order/Misconduct executing process	0	0		0.0	1	1	7.9	7.9	
	Total	9	22	7.9	173.8	14	27	7.9	213.3	
Drug Possession	Possession Other Controlled Drugs and Substance Act	1	1	6.4	6.4	1	1	6.4	6.4	
	Possession û Opioid (other than heroin)	0	1	6.4	6.4	0	0		0.0	
	Drug related occurrence	1	4	6.4	25.6	5	8	6.4	51.2	
	Total	2	6	6.4	38.4	6	9	6.4	57.6	
Drugs	Trafficking Cocaine	1	1	37.0	37.0	0	0		0.0	
	Trafficking Other Controlled Drugs and Substance Act	1	1	37.0	37.0	0	0		0.0	
	Total	2	2	37.0	74.0	0	0		0.0	
Statutes & Acts	Landlord/Tenant	8	18	3.3	59.4	7	12	3.3	39.6	
	Mental Health Act	8	18	3.3	59.4	12	23	3.3	75.9	
	Mental Health Act - No contact with Police	1	1	3.3	3.3	2	2	3.3	6.6	
	Mental Health Act - Attempt Suicide	2	4	3.3	13.2	3	7	3.3	23.1	



				February	/ - 2020					
Billing Catego	ries			2020		2019				
(Billing categorie traditional crime	s below do not match groupings)	February	Year to Date	Time Standard	Year To Date Weighted Hours	February	Year to Date	Time Standard	Year To Date Weighted Hours	
Statutes & Acts	Mental Health Act û Threat of Suicide	2	7	3.3	23.1	6	16	3.3	52.8	
	Mental Health Act - Voluntary Transport	2	5	3.3	16.5	5	7	3.3	23.1	
	Mental Health Act - Placed on Form	0	0		0.0	3	5	3.3	16.5	
	Trespass To Property Act	2	8	3.3	26.4	4	6	3.3	19.8	
	Total	25	61	3.3	201.3	42	78	3.3	257.4	
Operational	Animal Rabid	0	0		0.0	4	5	3.6	18.0	
	Animal Bite	3	3	3.6	10.8	0	0		0.0	
	Animal Stray	0	1	3.6	3.6	0	1	3.6	3.6	
	Animal Injured	1	2	3.6	7.2	1	3	3.6	10.8	
	Animal - Other	0	0		0.0	7	14	3.6	50.4	
	Alarm -Master code	0	0		0.0	0	1	3.6	3.6	
	Alarm -Others	0	0		0.0	3	4	3.6	14.4	
	Domestic Disturbance	40	73	3.6	262.8	27	57	3.6	205.2	
	Suspicious Person	26	50	3.6	180.0	26	55	3.6	198.0	
	Phone -Master code	2	2	3.6	7.2	0	1	3.6	3.6	
	Phone -Nuisance - No Charges Laid	3	6	3.6	21.6	2	2	3.6	7.2	
	Phone -Obscene - No Charges Laid	0	1	3.6	3.6	0	0		0.0	
	Phone -Threatening - No Charges Laid	0	0		0.0	1	1	3.6	3.6	
	Phone -Other - No Charges Laid	0	1	3.6	3.6	0	2	3.6	7.2	
	False Fire Alarm - Building	0	0		0.0	0	1	3.6	3.6	
	Fire - Building	3	5	3.6	18.0	4	5	3.6	18.0	
	Fire - Vehicle	2	2	3.6	7.2	2	3	3.6	10.8	
	Fire - Other	1	2	3.6	7.2	1	2	3.6	7.2	
	Insecure Condition - Master code	4	4	3.6	14.4	0	0		0.0	
	Insecure Condition - Building	1	1	3.6	3.6	1	2	3.6	7.2	
	Insecure Condition - Others	0	0		0.0	1	1	3.6	3.6	
	Missing Person under 12	2	2	3.6	7.2	0	0		0.0	
	Missing Person 12 & older	3	5	3.6	18.0	1	2	3.6	7.2	
	Missing Person Located 12 & older	3	5	3.6	18.0	0	0		0.0	



				February	- 2020					
Billing Catego	ories			2020		2019				
(Billing categories below do not match traditional crime groupings)		February	Year to Date	Time Standard	Year To Date Weighted Hours	February	Year to Date	Time Standard	Year To Date Weighted Hours	
Operational	Noise Complaint - Master code	9	15	3.6	54.0	0	0		0.0	
	Noise Complaint - Vehicle	0	0		0.0	0	1	3.6	3.6	
	Noise Complaint - Residence	0	1	3.6	3.6	14	24	3.6	86.4	
	Noise Complaint - Animal	2	4	3.6	14.4	0	1	3.6	3.6	
	Noise Complaint - Others	0	1	3.6	3.6	0	1	3.6	3.6	
	Accident - non-MVC - Master code	1	1	3.6	3.6	0	0		0.0	
	Accident - non-MVC - Public Property	0	0		0.0	1	1	3.6	3.6	
	Found Property -Master code	3	15	3.6	54.0	1	5	3.6	18.0	
	Found - License Plate	0	1	3.6	3.6	1	1	3.6	3.6	
	Found-Personal Accessories	0	1	3.6	3.6	1	5	3.6	18.0	
	Found-Household Property	0	0		0.0	0	1	3.6	3.0	
	Found- Radio,TV,Sound- Reprod. Equip.	1	1	3.6	3.6	0	2	3.6	7.2	
	Found-Machinery & Tools	1	1	3.6	3.6	0	0		0.0	
	Found-Others	1	1	3.6	3.6	1	1	3.6	3.	
	Lost Property -Master code	2	3	3.6	10.8	1	2	3.6	7.5	
	Lost License Plate	0	2	3.6	7.2	1	1	3.6	3.	
	Lost-Personal Accessories	1	1	3.6	3.6	5	7	3.6	25.2	
	Lost-Household Property	1	1	3.6	3.6	0	1	3.6	3.0	
	Lost-Sporting Goods, Hobby Equip.	0	0		0.0	1	1	3.6	3.0	
	Lost-Others	1	1	3.6	3.6	2	6	3.6	21.0	
	Sudden Death - Suicide	0	0		0.0	0	1	3.6	3.0	
	Sudden Death - Natural Causes	4	8	3.6	28.8	3	10	3.6	36.0	
	Sudden Death - Others	0	1	3.6	3.6	1	2	3.6	7.2	
	Suspicious Vehicle	24	49	3.6	176.4	18	37	3.6	133.	
	Trouble with Youth	11	17	3.6	61.2	6	19	3.6	68.4	
	Medical Assistance - Other	0	0		0.0	3	6	3.6	21.6	
	Vehicle Recovered - Automobile	1	5	3.6	18.0	1	6	3.6	21.6	



				February	7 - 2020					
Billing Catego	ories			2020		2019				
(Billing categories below do not match traditional crime groupings)		February	Year to Date	Time Standard	Year To Date Weighted Hours	February	Year to Date	Time Standard	Year To Date Weighted Hours	
Operational	Vehicle Recovered - Trucks	6	7	3.6	25.2	0	5	3.6	18.0	
	Vehicle Recovered - All Terrain Veh	0	0		0.0	0	1	3.6	3.6	
	Vehicle Recovered - Other	0	0		0.0	0	1	3.6	3.6	
	Unwanted Persons	6	15	3.6	54.0	9	12	3.6	43.2	
	Neighbour Dispute	7	15	3.6	54.0	5	25	3.6	90.0	
	Bomb Threat	0	0		0.0	1	1	3.6	3.6	
	By-Law -Master code	3	3	3.6	10.8	0	0		0.0	
	Firearms (Discharge) By-Law	0	1	3.6	3.6	0	0		0.0	
	Other Municipal By- Laws	1	10	3.6	36.0	12	31	3.6	111.6	
	Traffic By-Law	0	2	3.6	7.2	5	6	3.6	21.6	
	Taxi By-Law	0	0		0.0	0	1	3.6	3.6	
	Assist Fire Department	2	4	3.6	14.4	1	3	3.6	10.8	
	Assist Public	71	147	3.6	529.2	78	168	3.6	604.8	
	Distressed/Overdue Motorist	0	0		0.0	0	1	3.6	3.6	
	Family Dispute	14	36	3.6	129.6	18	33	3.6	118.8	
	Suspicious Package	0	0		0.0	0	1	3.6	3.6	
	Child Neglect	0	0		0.0	0	1	3.6	3.6	
	Protest - Demonstration	0	0		0.0	0	1	3.6	3.6	
	Total	267	535	3.6	1,926.0	271	595	3.6	2,142.0	
Operational2	False Alarm-Accidental Trip	0	0		0.0	7	11	1.3	14.3	
	False Alarm- Malfunction	0	1	1.3	1.3	9	16	1.3	20.8	
	False Holdup Alarm- Accidental Trip	1	3	1.3	3.9	0	0		0.0	
	False Alarm -Others	31	57	1.3	74.1	7	12	1.3	15.6	
	False Alarm -Cancelled	0	0		0.0	5	11	1.3	14.3	
	Keep the Peace	14	35	1.3	45.5	10	23	1.3	29.9	
	911 call / 911 hang up	14	35	1.3	45.5	73	160	1.3	208.0	
	911 hang up - Pocket Dial	0	0		0.0	6	19	1.3	24.7	
	911 call - Dropped Cell	6	15	1.3	19.5	27	58	1.3	75.4	
	Total	66	146	1.3	189.8	144	310	1.3	403.0	
Traffic	MVC (MOTOR VEHICLE COLLISION) -Master code	0	0		0.0	1	1	3.4	3.4	
	MVC - Personal Injury (MOTOR VEHICLE COLLISION)	10	17	3.4	57.8	3	7	3.4	23.8	



### Haldimand County February - 2020

				rebruary						
Billing Cate	gories			2020		2019				
(Billing catego	Billing categories below do not match raditional crime groupings)		FebruaryYear to DateTime StandardYear To Date Weighted Hours		February	Year to Date	Time Standard	Year To Date Weighted Hours		
Traffic	MVC - Prop. Dam. Non Reportable	17	40	3.4	136.0	16	40	3.4	136.0	
	MVC - Prop. Dam. Reportable (MOTOR VEHICLE COLLISION)	30	64	3.4	217.6	23	51	3.4	173.4	
	MVC - Prop. Dam. Failed to Remain (MOTOR VEHICLE COLLISION)	3	10	3.4	34.0	11	16	3.4	54.4	
	MVC - Fatal (MOTOR VEHICLE COLLISION)	1	1	3.4	3.4	0	0		0.0	
	MVC - Others (MOTOR VEHICLE COLLISION)	0	0		0.0	1	2	3.4	6.8	
	Road Rage	0	1	3.4	3.4	0	1	3.4	3.4	
	Total	61	133	3.4	452.2	55	118	3.4	401.2	
Total		508	1,069		4,525.6	616	1,337		5,280.4	

٠



Billing Categories			2020		2019					
(Billing categories below do not match traditional crime groupings)	February	Year to Date	Time Standard	Year To Date Weighted Hours	February	Year to Date	Time Standard	Year To Date Weighted Hours		
Violent Criminal Code	21	39	15.9	620.1	24	49	15.9	779.1		
Property Crime Violations	55	125	6.8	850.0	60	151	6.8	1,026.8		
Other Criminal Code Violations (Excluding traffic)	9	22	7.9	173.8	14	27	7.9	213.3		
Drug Possession	2	6	6.4	38.4	6	9	6.4	57.6		
Drugs	2	2	37.0	74.0	0	0		0.0		
Statutes & Acts	25	61	3.3	201.3	42	78	3.3	257.4		
Operational	267	535	3.6	1,926.0	271	595	3.6	2,142.0		
Operational2	66	146	1.3	189.8	144	310	1.3	403.0		
Traffic	61	133	3.4	452.2	55	118	3.4	401.2		
Total	508	1,069		4,525.6	616	1,337		5,280.4		